Worksheet Lesson 4A

Slurs, ties and staccato

(1) What is the difference between a tie and slur?

Tie connects the notes on the same pitch, and it joins the value of the notes.
Slur connects the notes that are different in pitch, and notes should be played

smoothly and well connected.

(2) Write in the boxes how many beats each tied note is combined.
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(3) In the melody below, draw a circle around the notes which are tied, and a box

around the notes which are slurred.
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(4) Circle the notes with the staccato correctly marked.
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